VA

6x14
4x15
2x16
2x17
4x19

N 103 320 02
N 106 902 01
N 909 548 02
N 101 064 02
N 015081 6

Mutter M10
Schraube M8x70
Schraube M12x1,5x80 70Nm + 180°

Mutter M12x1,5
Mutter M12x1,5

100Nm
20Nm + 180°

s.0.
65Nm



Domlager VA

50Nm (KW)

N 91021601 Mutter M14x1,5
N 912 464 01 Schraube M8x32

2x5
6x7

15Nm +90°



Aggregatetrager

4x5
2x6
2x8
1x11
1x12
1x13

N 912 31201
N 107 854 01
N 107 854 01
N 912 01001
N 107 847 01
N 106 994 01

Schraube M10x30

Schraube M12x1,5x95
Schraube M12x1,5x95
Schraube M14x1,5x50
Schraube M12x1,5x85
Schraube M12x1,5x45

20Nm +90°
70Nm + 180°
s.0.

100Nm (APR)
75Nm (APR)
75Nm (APR)



Lenkgetriebe

2x4

N 105524 02 Schraube M12x70

70Nm + 90°

—
]

13




HA

2x11
2x12
2x13
4x18

N 102 861 10
N 107 765 01
N 901 838 03
N 107 658 01

Mutter M10
Schraube M8x85
Mutter M8
Schraube M8x30

55Nm
20Nm

s.0.

20Nm +90°



HA

2x8
2x9
2x13
4x15

N 106 283 01
N 101 064 02
WHT 007 127
N 906 484 02

Schraube M12x1,5x90 70Nm + 180°

Mutter M12x1,5
Mutter M10
Schraube M10x35

S.0.
20Nm (KW)
50Nm + 45°




HA

2x21 N 10640501 Schraube M12x1,5x80 70Nm + 180°

2x22 N 10106402 Mutter M12x1,5

S.0.



Kardanwelle

4x6 N 91066901 Schraube M8x38 25Nm
3x8 N 908 461 02 Schraube M10x30 60Nm
3x9 WHT 005 179 Schraube M10x45 60Nm



Downpipe

1x2 5Q0253115B Dichtung Di=84,4 Da=92,6mm t=5,6mm
1x3 5Q0253725C Clamp-Klammer D=92mm
1x9 06K 906 262 AC Lambdasonde 2 40Nm

8V0 906 262 D Lambdasonde 1 40Nm



